Laampron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4626

PykosaTku ynpaeneHus

Ne ApTukyn HavnmeHoBaHve K-B Ne ApTukyn HavnmeHoBaHve K-Bo
1 20340040 0O60n104Ka paboueit pyKoAaTKK 1 18 | 20580010 Pyyka-¢durKcaTop BepXHen pyKoATKM 2
2 70550022 Pblyar BKAOYEHMA X043 1 19 | 60250080 WnavHT 2
3 70540052 Pbluar BbIK/lOYEHWUA gBUraTenA 1 20 | 19960080 Oswuratens T475 1
4 70500040 Paboyan pyKoATKa BEPXHAA NONOBUHA 1 21 | 20380010/ Kpblwka oTceka TpaBocbopHMKa 1
D-002-911-00
5 60060590 bont M6x30 1 22 | 60380170 MpyXWHa KPbILWKK 1
6 70050120 KpoHLuTelH KpenneHms Tpocos 1 23 | 70030010 OcCb KpbIWKKN 1
7 60150080 laiika M6 5 24 | 60220010 Cronop ocun 2
8 70810040 Tpoc xona 1 25 | 60300030 WnavHT 4
9 70780100 Tpoc BbIKAOYEHMA ABUraTeNA 1 26 | 60040150 Bont M8x25 2
10 70520020 Pabouyan pyKoATKa HUXKHAA NONOBUHA 1 27 | 60200100 LLlaiba 8,5X18x3 2
11 60130020 laiika M6 1 28 | 20040010 Kopnyc raiku 2
12 70230090 Hanpasnaowas WwHypa ctapTepa 1 29 | 60140080 lalika M8 6
13 60140080 laiika M8 6 30 | 20240010 3axum 1
14 20720010 Kopnyc raiku 2 31 | 20160040 3arnyLwka oTceka TpaBocbopHMKa 1
15 | 60190140 LWLai6a 8,4x16x1,6 4 32 | 60190140 LWak6a 8,4x16x1,6 4
16 20030010 dukcatop 2 33 | 60040090 bont M8x30 2
17 20030010 Bont 2 34 20070010/ TpaBocbopHuMK 50L 1
D-002-917-01

KommeHTapum K aetanuposke: 20380010/D-002-911-00 (HOBbIi1 apTUKyn/cTapblii apTUKyn)




Laampron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4626

3agHue Koneca

Ne ApTukyn HavnmeHoBaHue K-Bo Ne ApTukyn HavnmeHoBaHve K-Bo

1 20620060/ Konnak 3agHero Koneca 2 11 | 60320060/ PemeHb npuBoga 1
D2-3D-303-000 GB11544-1997

2 60240060 Wainba 12 10 12 | 70850630 Ocb Konec 3agHaA 1

3 60200030 Lanba 13x20x2 6 13 | 60300030 WnavHT 4

4 60010110 MoawmnnHuk Koneca 4 14 | 60290060 WrnoT 6

5 20880080 Koneco 3agHee 10" 2 15 | 70860190/ PenykTop npusoaa konec 1

D2-3J-100-001

6 20610030 KpbiLwKa 3aaHero Koneca BHYTpPeHHAA 2 16 | 70300160 LLlecTepHa npnMBoAa Konec npasas 1

7 60200090 LWanba 13x39,3x1 2 17 | 70300150 LLlecTepHa np1MBoAa Konec nesas 1

8 20270010 Pbiyar perynmpoBKu BbICOTbI 1 18

9 60240010 Lanba 28 2 19

10 60020010 NoawwunnHmk 6001RS 2 20




Laampron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: LM4626

Kopnyc. MNepeaHne
Koneca

Ne ApTukyn HavnmeHoBaHue K-Bo Ne ApTukyn HavnmeHoBaHve K-Bo
1 60170120 BuHT 6,3x25 3 18 | 60300030 LnanHT 4
2 70740690 Kopnyc Kocunkmn 1 19 | 60060390 Bont M8x25 2
3 70460050 Mpy»X1Ha NPaBOro KpoHLWTenHa 1 20 | 20140010 BTynka koneca 2
4 60170230 BuHT 4,8x17 3 21 | 60150080 lalika M6 5
5 60150020 laiika M8 4 22 | 60060520 Bont M6x12 2
6 70070040 KpoHWTEeWnH npasbIit 1 23 | 60150060 lalika M5 2
7 60040100 Bont M8x15 4 24 | 20880100 Koneco nepegHee 7" 2
8 20250050 PerynaTop BbicoTbI 1 25 | 70060060 KpoHLwTeiH 1
9 70460040 Mpy»X1Ha NeBOro KPoHLWTEeNHa 1 26 | 60010110 MoawmnnHuk Koneca 2
10 70070100 KpoHwWTeWnH nesbli 1 27 | 60060040 Bont M5x10 2
11 20400100 3aaHAA neperopoaka 1 28 | 60200030 LLlaiba 13x20x6 6
12 20420020 Kpbiwka 1 29 | 70030070 Ocb KpblWwKK 60KoBOro Bbibpoca 1
13 60410420 MpyxnHa 1 30 | 60240060 LWaiba 12 10
14 20660040/ KoKyx pemHsa 1 31 | 60390020 Mpy*KMHa O0CU KPbILLKK 1
D2-1A-701-000
15 70150240 LWarba 1 32 | 20620030 Konnak nepeaHero Koneca 2
16 60060180 Bont M8x30 1 33 | 20110010 Hanpasnstowasn 6okoBoro Bbibpoca 1
17 70840070 Ocb nepeaHUx Konec 34 | 20120010 Kpblwka 6okosoro Bbibpoca 1




Laampron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: LM4626
Hox A
Ne Ne
ApTukyn HavnmeHoBaHue K-Bo ApTukyn HaunmeHoBaHve K-Bo
1 60100010 BonT KpenneHuna Hoxa 1 6 70480020/ LLinoHKa aganTepa 1
D-002-402-01
2 60200240 LLlaba Hoxa 1 7 60240070 Konbuo ctonopHoe 1
3 Hox 1 8 70580020 LWkns 1
4 70140070/ ApanTep HOXa 1 9 70180060 TAra perynatopa BbICOTbI 1
D-002-404-02
5 70150020 BTynka agantepa 1 10 | 60410080 MpyxuHa Tarmn 1




Laampron

Power & force MNNocTpMpoBaHHbIN KaTaior 3anacHbIX YacTei Mogenb: LM4626
CrapTtep
Ne Ne
ApTukyn HavnmeHoBaHue K-Bo ApTukyn HavnmeHoBaHue K-Bo
1 P-65-07-06-010-00 KpbllwKa asuratens 1 4 GB6177.2-2000 laiika M14x1,5 1
2 P-65-07-01-000-00 Craprep B cbope 1 5 P-65-07-02-000-00 XpanoBuk cTtapTepa 1
3 P-65-07-04-010-00 KosKyx BeHTUnATopa 1 6 GB6177.1-2000 laiika M6 6




Laampron
Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4626

Uunuuap. Bak TonnmveHbIN

43
44
45
46
'f.‘“ L 47
) ' f'-f{nil ] 48
I |

Ne ApTukyn HavnmeHoBaHue K-B! Ne ApTukyn HaunmeHoBaHve K-Bo

1 | P-65-07-04-020-00 KpblabyaTKka MaxoBuKa 1 29 | P-65-07-04-030-00 BTynka WwWnunbku 1

2 P-65-07-03-010-00 MaxoBUuK 1 30 P-65-07-04-030-00 BTynKa Wnuabku 1

3 | GB5789 Bont M6x12 8 31 | P-65-01-07-010-00 Bryska 2

4 P-65-01-01-070-00 MaHenb canyHa KapTepa 1 32 P-65-01-03-010-01 TopMO3HOW MexaHM3M C BbiKtoyaTenem 1

5 P-65-01-01-090-00 Mpoknagxa naHenu 1 33 GB5789 BonTt M6x20 2

6 P-65-01-01-080-00 KnanaH canyHa 2 34 | P-65-07-05-020-00 LLinunbKa KpenaeHua ctaptepa 1

7 P-65-05-01-020-00 Mpoknaaka 1 35 | P-65-07-03-020-00 MarHeTo 1

8 P-65-05-10-000-20 AmopTH3aTOp TOMIMBHOTO HaKa 6 36 | GB5789 Bont M6x25 1

9 | GB6182 lalika M6 3 37 | P-65-01-06-081-00 LLinunbKa KpenaeHua ctaptepa 1

10 | P-65-05-01-040-00 Ckoba KpenneHua 6aka npasas 1 38 | P-65-07-04-030-00 BTy/Ka Wnuabkn 1

11 | P-65-05-02-000-00 KpoHwTeliH 6aka 1 39 | P-65-05-01-010-00 Mpobka TonnneHoro b6aka 1

12 | GB6182 alika M6 3 40 | P-65-05-01-060-00 BcTaBKa noposioHoBas 1

13 | GB5789 BonT M6x12 8 41 | P-65-05-01-020-00 CanyH npobku 1

14 | P-65-05-06-000-00 LnaHr canyHa 1 42 | P-65-05-01-030-00 Bak TONAWBHbI 1

15 | P-65-01-01-030-00 KapTep 1 43 | P-65-05-10-000-20 AMopTU3aTOpP TONMBHOTO Haka 6

16 P-65-01-01-050-00 Ban perynatopa o60poTos 1 44 GB5789 Bont M6x22 3

17 | P-65-01-01-100-00 Konbuo 6,5x15x0,5 1 45 | P-65-05-05-000-00 PUNbTP TONAUBHBIN 1

18 | P-65-01-01-120-00 CanbHUK Bana perynatopa 6x11x4 1 46 | P-65-05-06-000-00 XomyT WwnaHra 1

19 | P-65-01-01-060-00 LLinAvHT Bana perynatopa 1 47 | P-65-05-09-000-00 LLLnaHr TonmMBHbIN 1

20 P-65-01-06-010-00 MpysKuHa perynatopa 1 48 P-65-05-08-000-00 XomyT wnaHra 1

21 P-65-01-06-033-01 Tara peryaatopa 1 49 P-65-05-07-000-00 XomyT wnaHra 1

22 | P-65-01-06-040-00 bont perynatopa 1 50 | P-65-05-10-000-20 AMOpTM3aTOp TOMIMBHOO HaKa 6

23 P-65-01-06-030-03 Pbluar perynatopa 1 51 GB5789 Bont M6x12 1

24 | GB6177.1-2000 laitka M6 6 52 | P-65-05-01-050-00 Ckoba b6aka nesas 1

25 P-70B-01-06-000-00 KpoHwWwTenH 1 53 GB6182 laiika M6 3

26 | P-65-01-06-060-04 MpyxuHa 1 54 | P-65-05-10-000-20 AMopTU3aTOpP TONMBHOTO Haka 6

27 | GB5789 Bont M6x12 2 55 | GB5789 Bont M6x22 3

28 | P-65-07-05-020-00 LinnnbKa KpenaeHua ctaptepa 1 56




Laampron
Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4626

KoneHnBan. MoplueHb

Ne ApTukyn HaunmeHoBaHve K-8 Ne ApTukyn HaunmeHoBaHve K-B:
1 P-65-01-01-090-00 CanbHWK KoneHBana 22x35x7 1 21 | P-65-01-02-100-00 CanbHuK KoneHsana 25x38x7 1
2 | GB276 MoAWMNHMK KoneHBana 1 22 | GB5789 Bont M6x30 7
3 P-65-01-04-023-00 BonT KpenneHus waTyHa 2 23 | GB5787 Bont M 10x1,25x12 1
4 | P-65-01-04-022-00 KpblILKa WwaTyHa HUKHASA 1 24 | P-65-01-02-070-00 Mpoknagka 6onta 1
5 | P-65-01-04-020-00 LLlaTyH Komnnekt 1 25 | GB5787 Bont M 10x1,25x12 1
6 P-65-01-03-010-00 Koneusan 1 26 | GB3452 Konbuo ynnotHutenbHoe 21x2,3 1
7 P-65-08-03-00-00 Tapesika TonKaTeNs KnanaHa 1 27 | P-65-01-05-030-00 BTynka KpenneHuA ropaoBuHbI 1
8 P-65-08-01-000-00 Pacnpeggan 1 28 | P-65-01-05-020-00 [opaoBMHA Maci03annBHasA 1
9 P-65-08-03-00-00 Tapesika ToNKaTens Knanaxa 1 29 GB3452 Konbuo ynnotHutenbHoe 25x3,1 1
10 P-65-01-01-010-00 Mpoknaaka KapTepa 1 30 GB5789 Bont M6x50 1
11 GB5789 Bont M6x12 8 31 P-65-01-05-010-00 LLlyn ypoBHA macna 1
12 | P-65-01-02-060-00 MnactuHa Bana perynatopa 1 32 | P-65-01-05-000-00 FopnoBuHa macno3anuBHasa KOMNAEKT 1
13 | P-65-01-02-020-00 Tonkatens perynatopa 1 33 | P-65-01-04-012-00 Konbuo komnpeccmoHHoe 1 1
14 | P-65-01-01-100-00 KonbLo 6,5x15x0,5 1 34 | P-65-01-04-013-00 KonbLo KomnpeccnoHHoe 2 1
15 | P-65-01-02-030-00 Perynatop obopotos 1 35 | P-65-01-04-015-00 Hanpagnatowasn Mac/10CbeMHOro Ko/ibla 2
16 | P-65-01-02-090-00 KosbLio cTonopHoe 1 36 | P-65-01-04-014-00 Mpy*MHa Mac/10CbeMHOro KonbLa 1
17 | P-65-01-02-050-00 Ban perynatopa 1 37 | P-65-01-04-016-00 Maneuy nopwHa 1
18 P-65-01-01-170-00 Konbuo 6,5x12x1 2 38 P-65-01-04-011-00 MNopweHb 1
19 P-65-01-01-020-00 Wrner 2 39 P-65-01-04-017-00 Konbuo ctonopHoe nanbua 2
20 P-65-01-02-010-00 KpblwkKa KapTepa 1 40 P-65-01-04-021-00 WaTtyH 1




Laampron

Power & force

MﬂﬂPOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4626

ConoBka uMnMHApa.

Ne ApTukyn HavnmeHoBaHue K-Bo ApTukyn HaumeHoBaHve K-Bo
1 P-65-02-04-000-00 MpoknagKa ronoBkM LUAnHApa 1 19 | GB5789 Bont M6x14 4
2 P-65-02-05-000-00 Hanpasnsatowas BTyNKa 2 20 P-65-02-01-000-00 KpbllwKa Kn1anaHoB Hapy»KHAA (BKA. 1
nos. 22)

3 P-65-08-06-000-00 KnanaH BnyckHom 1 21 | P-65-02-03-000-00 MpoKnagKa KpbIWKKM KNanaHoB 1
4 P-65-08-07-000-00 KnanaH BbinyckHoOM 1 22 | P-65-02-01-000-01 KpblwKa KnanaHoB BHYTPEHHAA 1
5 P-65-02-01-000-00 lonoBKa unanHapa 1 23 | P-65-02-03-000-00 MpoKknaaKa KPbILKK KnanaHoB 1
6 GB900 Lnunbka kapbropatopa M6x95 2 24 | P-65-08-11-000-00 KpbilwKa BbINYCKHOrO KnanaHa 1
7 P-65-03-02-000-00 Mpoknagka nog TennonsonaTop 1 25 | P-65-08-10-000-00 Cyxapb BbIMYCKHOrO KNanaHa 1
8 P-65-03-04-000-00 Tennousonatop 1 26 | P-65-08-09-000-00 Cyxapb BMYCKHOTO K/ianaHa 1
9 P-65-03-03-000-00 Mpoknagka nop Kapbtopatop 1 27 | P-65-08-08-000-00 MpyXMHa KnanaHa 2
10 | P-65-03-01-000-02 Kap6topaTop 1 28 | P-65-02-06-000-00 Konnayek macnocbemHblii 1
11 | P-65-03-05-000-00 Mpoknagka nog kopnyc Gunstpa 1 29 | GB900 Lnunbka M6x92 1
12 | GB5787 Bont M8x45 4 30 CBeuya 3axKuraHma 1
13 | P-65-08-04-000-00 Tonkatenb KnanaHa 2 31 | P-65-06-02-000-00 MNpoknagkKa rnywutens 1
14 | P-65-08-05-000-00 Hanpasnstowasn Tonkatenei 1 32 | P-65-06-00-000-00 nywutens 1
15 | P-65-08-02-020-00 LLinnnbKa Kopomblic/ia KnanaHa 2 33 | P-65-06-04-000-00 Laii6a 4
16 P-65-08-02-000-00 Kopombicno knanaHa 2 34 P-65-06-03-000-00 PelweTKa raywmtens sawmtHan 1
17 | P-65-08-02-030-00 lalika perynnpoBoYHas KnanaHa 2 35 | GB6187.1-2000 lalika rnywutens 1
18 | P-65-08-02-040-00 KoHTpraiika 2 36




Laampron
Power & force

MﬂﬂiOCTpMpOBaHHbIVI KaTanor 3anacHbIX YacTen

Mogenb: LM4626

®PunbTP BO3OYLUHBLIN

Ne ApTukyn HavnmeHoBaHne K-8 Ne ApTukyn HaunmeHoBaHve K-B:
1 P-65-04-00-000-00 Kopnyc ¢punbTpa Komnaekr 1 7 P-65-04-01-030-00 Haknaaka Bosayxososa 1
2 P-65-04-01-010-00 Kpblwka Bo3gywHoro ¢puabtpa 1 8 P-65-04-01-020-01 Kopnyc Bo3gywHoro ¢puabtpa 1
3 P-65-04-01-060-00 PuNbTP BO3AYLHBIN (MOPONOH) 1 9 P-65-05-10-030-00 XomyT wnaHra 2
4 P-65-04-01-040-00 dunbTp BO3aYLWHbIN (Bymara) 1 10 | P-65-05-10-040-00 LWnaHr nparimepa 1
5 | GB6177.1-2000 Faitka M6 2 11 | P-65-05-10-000-00 Mpaiimep 1
6 | P-65-04-01-070-00 BTynka 2 12




